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Zakladnu T delsi - vyplnit mat. pro Fezani!!!

0 D O
TI. 10
g
o o Trapez
‘? el o
loZisko
6/14/4,5)
) o 5] ) °
Vodici tys
o
o [} o o ° 520
)

< 4

[ 7 1 O

J0 = ° o

Vodicity Tr4a Vodicitys o [ o o} (o] [ o} o} (o] [ o} o [o] [ o o [o]
@25mm @25mm
o o o o o
o o 30 ) o o o o
|
o o
2

.12
Lozisko 6200 (

150
215
/ o o ] o o ] o o o ] o o o ]
=~
8 575
6ks
Pristrojpva noha [o O o o [ o O o o
Montako
Vyklopna o 5° 100
@E@ JT 308 M8x50 ° °
Vrchni |
strana: tl. 10 TI " 1 5 o o ]
Spodni
Alupa profil strana: tl. 15 ] ]
o o0 [e] o o O [e]
710874




